

$$\begin{aligned} \textcircled{1} \quad \Gamma(\bar{c}, z) &= z \prod_{\substack{\gamma \in \mathbb{N} \setminus \{1\} \\ \gamma \neq 0}} \left(1 - \frac{z}{\gamma}\right) \exp\left(\frac{z}{\gamma} + \frac{1}{2} \frac{z^2}{\gamma^2}\right) \\ &= \frac{\exp\left(\frac{+\pi^2}{6} E_2(\tau) z^2\right) \Theta(\tau, z + \frac{1+\bar{c}}{2}) q^{\frac{1}{24}} \bar{q}^{\frac{1}{24}}}{2\pi i \gamma^3} \end{aligned}$$

$$\Theta(\tau, z) = \sum_{r \in \mathbb{N}} q^{r^2} \bar{q}^r$$

$$\textcircled{2} \quad \mathcal{M}_k(m) = \sum_{\substack{d \mid m \\ d \neq 1}} M_u^{\text{new}}\left(\frac{m}{d^2}\right) / V_d \sum_{t \mid d} t^{k/2} V_t, \text{ where } V_t : f(\tau) \rightarrow f(t\tau).$$

$$\textcircled{3} \quad C(\theta, m) = \sum_{\substack{s, t \in \mathbb{R} \\ (s, s+u, t) = 1 \\ m, s, t = \nu}} (m, s - \nu, t) =$$